20

H16 6 H16
H17
H18
H20.1.18 H19
H19
20

13
2 187 6
826 22,918
5:870,002,700 2,800,000,000 47.7% 5
16
20
H17 H18 H19 H20

1 1

0 0

27 27 27 27

| 4 4 4 4

25 25 25 30

26 26 26 31

35 35 34 29

5 3 3 5

65 3,324 55 3,506
19
(A) 1338843 (1,409,280) 53460  (47,954)
(8) 1356,236 (1,355,067) 0 )
(A)-(B) 17,393 (54.213) 53460  (47,954)
17,403 (54.203) 0 )
868  (887) 965  (913) 20000  (20,000)
987  (104.0) 1505  (1218) 0 ©)
98 (72) 983  (98.0) 0 ©)
10.1 (9.1) 982 (979 0 ©)
50  (212) 33 (69) . 0
69 (54)

( 53460  (47.954)




18 19 20

(A 1,162,908 1,409,280 1,338,843

202,931 209,075 155893

13675 44,302 51,777

293,028 1,077,156 1,038,328

652,597 76,683 92,845

596,028 12,814 23,197

40,516 47,954 53,460

15,653 15915 16,188

(B) 1,120,622 1,355,067 1,356,236

1,031,641 1,231,786 1,219,901

1,000,456 1,202,252 1,177,631

31,185 29,534 42,270

88,981 123281 136,335

3,029 3,029 3,324

52,217 64,565 87,459

(C)=(A)-(B) 42,286 54,213 17,393

(D) 0 0 0

) 810 10 10

(F)=(D)-(E) 810 10 10

(G)=(C)+(F) 41476 54,203 17,403

(H) 286,019 327,495 381,698

()=(G)*+(H) 327,495 381,698 364,295

0 0 0

0 0 0

0 0 0

Q) 2,355 25,203 20,323

(K) 5,870,003 5,867,648 5,892,851

(L=()+(K) 5,867,648 5,892,851 5,872,528

(M)=(G)+(J) 39,121 79,406 37,726

(N) 6,156,022 6,195,143 6,274,549

(0)=(M)+(N) 6,195,143 6,274,549 6,236,823
18 19 20

436,540 723,402 329,822

109,363 106,044 79,310

6,076,501 6,148,046 6,129,920

5,867,648 5,892,851 5,878,216

0 0 0

5,865,105 5,885,396 5,868,945

207,880 253375 249,906

2,646 3,149 3813

0 0 0

1,061 1,820 1,798

6,513,131 6,871,448 6,459,742

315,342 593,749 219,116

306,300 472,060 216,120

2,992 115985 1,764

2,646 3,150 3803

0 0 0

2,646 3,150 3803

317,988 596,899 222919

5,867,648 5,892,851 5,872,528

5,867,648 5,892,851 5,872,528

0 0 0

327,495 381,698 364,295

0 0 5,688

207,881 237,374 246,103

6,195,143 6,274,549 6,236,823

6,513,131 6,871,448 6,459,742




